
 

 
 

 

2020 TRIAL 
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Date: 
Total Time: 
Total Marks: 
Weighting: 
 
Outcomes Assessed: 

Fri 14 August (AM) 
3 hours & 5 minutes 
100 
50% of total 
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General Instructions: 
 

 Reading Time: 5 minutes 

 Working Time: 3 hours 

 Write using black pen 

 Write your candidate number above and on the top of the Answer Booklet and all Writing Booklets used 

 Put your Question Paper and all Writing Booklets inside your Answer Booklet and hand up in one 

bundle 

 
 
Structure of Paper and Specific Instructions: 
 

 Section I: Multiple Choice (20 marks) 
Answer all questions in the Answer Booklet. Select the alternative A, B, C or D that most fully 
and correctly answers the question 
 

 Section II: Short Answers (40 marks) 
Answer all parts of the 4 questions in the Answer Booklet 
 

 Section III: Stimulus Extended Response (20 marks) 
Attempt one question from this section in a Writing Booklet. Answer this question after carefully 
reading the stimulus material 
 

 Section IV: Extended Response (20 marks) 
Attempt one question from this section in a Writing Booklet 
 

• Board approved calculators may be used 
 

NT 
August 2020 

 
 

Checklist: 

Each boy should have the following: 

� Question Paper 

� Answer Booklet 

� 2 Writing Booklets 



 

 

SECTION I: MULTIPLE CHOICE 
20 marks 

Attempt ALL questions 
Select the alternative that best answers the question 

Mark your answers on the sheet provided in the ANSWER BOOKLET 
Spend no more than 35 minutes on this section 

 
 
 

1. Which of the following is not a typical characteristic of a developing economy? 
 
A Dependence on agricultural production 
B Weak political and economic institutions 
C Reliance on foreign aid 
D Low level of inequality 

 
 
 

2. In terms of Australia’s free trade agreements, which one of the following is 
 structurally different to the others? 

 

A ANZ CERTA 
B AANZFTA 
C A-US FTA 
D CHAFTA 

 
 
 

3. This graph represents the Australian economy in 2017/18. 
 What does it show? 

 
 

A Industrial production 
B Composition of imports 
C Composition of exports 
D Composition of the Balance of Goods & Services 
 

  



 

 

4. Which of the following international organisations has an aim to reduce the rate of 
 extreme poverty to less than 3% of the world’s population by 2030? 
 
A International Monetary Fund 
B World Trade Organisation 
C World Bank 
D Organisation for Economic Cooperation and Development 

 
 
 
Questions 5 & 6 are based on the graph below, showing Australia’s Terms of Trade: 

 
 
 
5. Which of the following is generally true for the 2011 – 2014 period? 

 
A Export prices have fallen relative to import prices Terms of Trade has risen 
B Import prices have risen relative to export prices Terms of Trade has fallen 
C Export prices have risen relative to import prices Terms of Trade has risen 
D Import prices have fallen relative to export prices Terms of Trade has fallen 

 
 
 

6. Which of the following statements is incorrect? 
 
A The gains from the Mining Boom Mark I (Price Phase) were helped by the sharp rise 
 in the Terms of Trade 
B Since the last peak shown, Australia has been able to buy fewer imports for a given 
 level of exports 
C Post GFC there was a global recovery, sparking an initially higher Terms of Trade 
D The falling terms of trade after 2011 shows that the quantity of exports sold rose 
 more than the quantity of imports purchased 

 
 
 

7.  How can a government finance a budget deficit? 
 
A Reduce government expenditure 
B Increase company taxes 
C Sell Commonwealth Government Securities 
D All of the above  



 

 

8. The following table shows the change in the value of the United States dollar: 
 
Date United States Dollar Australian Dollar 
January 2020 1 1.3 
March 2020 1 1.5 

 
 Which of the following theoretical statements is correct? 

 
A Imported inflation into America will fall 
B The volume of American exports to Australia will rise 
C American investment into Australia will fall 
D The Australian Dollar value of Australian debts denominated in US $ will fall 

 
 
 
9. The following international flows have been measured in an open economy: 
 

Flow Australian $ (Millions) 
Capital & Financial Account + 45 

Net Income (Primary & Secondary) - 25 
Net Errors & Omissions - 5 

Net Services + 5 
 

 Which of the following measurements is also correct? 
 

  Flow Australian $ (Millions) 
A Net Exports +20 
B Balance of Trade +15 
C Exports -10 
D Balance of Goods & Services -15 

 
 

10. The following graph represents a model of a 3 sector economy’s income and 
 expenditure patterns: 
 

 
 
 By how much does income increase between Ye and Ye1 
 
A 300 
B 60 
C 200 
D 75  



 

 

 
 
11. The following graphs represent the demand (MB) and supply (MC) schedules for two 
 goods, good (A) and good (B) with the social benefits & costs represented by MSB & 
 MSC respectively: 
 

 
 

  
What combination of policies would ensure that the social optimum is achieved in 
both markets? 

 
  GOOD (A) GOOD (B) 

A Govt restricting production Govt encouraging production 
B Govt legislating for a free market Govt legislating for a free market 
C Subsidies to the producers Indirect tax on the good 
D Banning imports of the good Reducing the GST on the good 

 
 
 
 
12. The following table represents flows in a five sector economy over three years: 

 
 Year 1 Year 2 Year 3 

Income 100 200 350 
Exports 20 30 30 

Govt Expenditure 20 10 30 
Investment 10 15 50 

Consumption 50 150 250 
Imports ? ? ? 

 
  In which year(s) do net exports provide the greatest nominal injection? 
 
A Year 1 
B Year 2 
C Year 3 
D Years 1 and 3 equally 
 
 
  



 

 

 
 
13.  According to traditional crowding out theory, which of the following is regarded as 
  the most likely negative consequence of governments running successively bigger 
  budget deficits over time, ceteris paribus? 
 
A  Worsening environmental sustainability 
B  Higher domestic interest rates 
C  Lower Current Account Deficits 
D  Higher inflation 
 
 
 
 
14.       If the government budgets for a surplus and there is an unexpected rise in the level 
           of economic activity, which of the following is most likely to occur, ceteris paribus? 

 
A Higher tax receipts Rise in the structural component of the budget surplus 
B Higher tax receipts Fall in the cyclical component of the budget surplus 
C Greater government expenditure Fall in the structural component of the budget surplus 
D Lower government expenditure Rise in the cyclical component of the budget surplus 

 
 
 
 

15. In the following diagram, DD and SS represent the demand and supply for cars: 
 

 
 
 
 

 If a subsidy of $10 per unit were paid to producers, shifting the supply curve from SS 
 to S1S1, what would happen to the price of cars, ceteris paribus? 
 
A The price would remain the same 
B The price would fall by $10 
C The price would fall by more than $10 
D The price would fall by less than $10 
  



 

 

 
 
 
16. If the Reserve Bank of Australia believes that the overnight money market is likely to 
 deliver a cash rate below the target, what would it do? 
 
A Sell Commonwealth Government Securities to reduce liquidity in the market 
B Sell Commonwealth Government Securities to increase liquidity in the market 
C Buy Commonwealth Government Securities to reduce liquidity in the market 
D Buy Commonwealth Government Securities to increase liquidity in the market 
 
 
 
 
17. Which of the following statements is true regarding the nature of goods? 
 
A Goods with positive externalities are usually over-produced by the free market 
B Goods which are rival and excludable are best provided by the government 
C Non-rival and non-excludable goods are associated with the issue of free riding 
D Private property rights do not exist if the good has negative externalities 
 
 
 
 
18. The following diagram shows changes in the demand for and supply of Australian 
 dollars in the foreign exchange market: 
 

 
 
 Assuming a floating exchange rate, which of the following would most likely not be 
 responsible for the change shown? 
 
A More foreigners holidaying in Australia 
B Higher interest repayments on non-A$ loans borrowed from overseas by Australians 
C Higher dividends received by foreigners from their Australian equities 
D Increased fears of a slowdown in the Australian economy 

 
  



 

 

 
 
19. Which of the following combinations is generally regarded as causes of  
 low levels of national income? 
 

 
  Global Factor Domestic Factor 

A Weak entrepreneurial culture Phantom aid 
B High levels of agricultural protection Highly skilled labour force 
C Tied aid Poor access to capital 
D Sustainable Development Goals High levels of foreign debt 

 
 
 
 
20. Consider the following table before answering this question.  
 

Year Money GDP ($ bn) CPI 
1 1000 100 
2 1200 105 
3 ? 115 

 
  If Real GDP in year 3 was $1500bn, which of the following combinations is correct? 

 
A Eco Growth in Year 2 is 20% Real GDP in Year 1 is $1000 
B Money GDP in Year 3 is $1725 Eco Growth in Year 3 is 31.2% 
C Eco Growth in Year 2 is 14.3% Money GDP in Year 3 is $1304 
D Real GDP in Year 2 is $1143 Eco Growth in Year 3 is 16.9% 

 
 
 
 
 

END OF SECTION I 
 
 
 

SECTION II: SHORT ANSWERS 
40 Marks 

The questions for Section II are contained in the ANSWER BOOKLET 
Please complete your answers in the spaces provided 

Marks for each part of the question are as indicated 
Spend no more than 1 hour and 15 minutes on this section 

 
  



 

 

SECTION III: STIMULUS EXTENDED RESPONSE 
20 marks 

Attempt EITHER Question 25 OR Question 26 
Answer your chosen question in a WRITING BOOKLET 

Allow at least 35 minutes for this question 
 
 
In your answer you will be assessed on how well you: 
• Demonstrate knowledge and understanding relevant to the question 
• Use the information provided 
• Apply relevant economic terms, concepts, relationships and theory 
• Present a sustained, logical and cohesive response 
 
 

EITHER 
 

25. Discuss the effectiveness of fiscal and monetary policies in terms of achieving their 
objectives in Australia. 

 
 

 
 
 

Last 10 Years - Australia’s Cash Rate Target (%) 
 

 
  



 

 

 
OR 

 
 

26. Discuss the use of environmental policies in terms of promoting ecologically 
sustainable development in Australia. 

 
 

 
 
 
 

 
 
 
 
 
 

END OF SECTION III 



 

 

SECTION IV: EXTENDED RESPONSE 
20 marks 

Attempt EITHER Question 27 OR Question 28 
Answer your chosen question in a separate WRITING BOOKLET 

Allow at least 35 minutes for this question 
 
 
In your answer you will be assessed on how well you: 
• Demonstrate knowledge and understanding relevant to the question 
• Apply relevant economic terms, concepts, relationships and theory 
• Present a sustained, logical and cohesive response 

 
 
 

EITHER 
 
 
 

27. Examine the impacts of globalisation on the global economy. 
 
 
 

OR 
 
 
 

28. Examine the factors influencing the changing nature of Australia’s external stability. 
 

 
 
 
 
 
 
 

END OF THE EXAMINATION 
 

  



 

 

Candidate Number....................................................... 
 

2020 TRIAL 
HSC ECONOMICS 

ANSWER BOOKLET FOR SECTIONS I & II 
 

SECTION I: MULTIPLE CHOICE 
 

 
(1) A B C D   (11) A B C D 
 
 
 
(2) A B C D   (12) A B C D 
 
 
 
(3) A B C D   (13) A B C D 
 
 
 
(4) A B C D   (14) A B C D 
 
 
 
(5) A B C D   (15) A B C D 
 
 
 
(6) A B C D   (16) A B C D 
 
 
 
(7) A B C D   (17) A B C D 
 
 
 
(8) A B C D   (18) A B C D 
 
 
 
(9) A B C D   (19) A B C D 
 
 
 
(10) A B C D   (20) A B C D 
 

  



 

 

SECTION II: SHORT ANSWERS 
40 marks 

Marks for each part of the question are indicated 
Answer the questions in the spaces provided below 

Spend no more than 1 hour and 15 minutes on this section 
 

Question 21 
 
(a) Using the information in the table below, calculate the rate of unemployment.
           (1 mark) 

 
Working Age Population 

100m 
Unemployed 

10m 
Hidden Unemployed 

35m 
Full-Time Employed 

40m 
Part-Timed Employed 

10m 
Home Duties 

5m 
 
 

………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
(b) Using the Consumer Price Index information in the table below, calculate the 
 rate of inflation in Year 3.       (1 mark) 
 

Year 1 Year 2 Year 3 
110 120 140 

 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
(c) Why is there a conflict between achieving low inflation and low 

unemployment?        (2 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 

Question 21 continues on opposite page 
  



 

 

Question 21 continued 
 
(d) Outline the concept of NAIRU.      (2 marks) 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
(e) Explain the different approaches taken by macroeconomic policies  
 and microeconomic reform in terms of reducing unemployment. (4 marks) 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
Question 22 
 
The following diagram represents the change in income distribution (Lorenz 
Curve A to Lorenz Curve B) for a particular nation and is needed to answer 
parts (a) and (b) on the next page: 
 

  



 

 

Question 22 continued 
 
(a) What has happened to this nation’s income distribution? (1 mark) 
 
 
………………………………………………………………………………………………….. 
 
(b) What has happened to this nation’s Gini coefficient?   (1 mark) 
 
 
………………………………………………………………………………………………….. 
 
 
(c) Distinguish between the concepts of income and wealth.  (2 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
(d) Explain the likely impact on Australia’s income distribution following 
 a rise in the rate of the Goods and Services Tax.   (3 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 

Question 22 continues on opposite page 
  



 

 

Question 22 continued 
 
(e) Account for the difference between wealth held by males and females 
 in Australia.         (3 marks) 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
Question 23 
 
(a) On the graph below, draw and label the impact of a successful  
 privatisation program by the Australian government.   (1 mark) 
 

 
 
(b) Outline the 3 efficiencies that microeconomic reforms are aimed at. (3 marks) 
 
 
i)…………………………………………………………………………………………………. 
 
………………………………………………………………………………………………….. 
 
 

Question 23 (b) continues on next page 



 

 

Q23 (b) continued 
 
ii)………………………………………………………………………………………………… 
 

………………………………………………………………………………………………… 
 
iii)………………………………………………………………………………………………... 
 
………………………………………………………………………………………………….. 
 
(c) Using an Australian example, explain how deregulation has been  
 used as a microeconomic reform.      (3 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
 
(d) Explain how competition policy has been used in Australia as a 
 microeconomic reform.       (3 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 

 
Question 24 starts on opposite page  



 

 

Question 24 
 
(a) Outline ONE benefit and ONE cost of using tariffs to protect domestic 
 industries.         (2 marks) 
 
 
Benefit: ………………………………………………………………………………………... 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
Cost: …………………………………………………………………………………………… 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
 
(b) Explain the likely effects of a lower Australian Dollar on Australia’s  
 Balance of Payments.       (4 marks) 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
 

Question 24 continues on next page 
 

  



 

 

Question 24 continued 
 
 
(c) With reference to ONE economy other than Australia, how has the 
 government responded to fluctuations in the international business cycle? 
           (4 marks) 
 
 
Chosen Country:  ………………………………………………….. 
 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
………………………………………………………………………………………………….. 
 
 
 
 

END OF SECTION II 
 

SECTIONS III & IV ARE BACK ON THE QUESTION PAPER 
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